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PLANE

Multiole Choice Questions

1. A point  moves parallel to xy-plane. Which of the three variables

 remains fixed? (A) x (B) y (C) z (D) xand y

A. x

B. y

C. z

D. x and y

Answer: C

(x, y, z)

x, y, z

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dfOT55rhFgl7


Watch Video Solution

2. In three dimenisonal space , the equation by+cz = 0 represents

A. a plane containing x-axis

B. a plane containing Y- axis

C. a plane containing Z-axis

D. a plance containing point (abc)

Answer: A

Watch Video Solution

3. In the space the equation  represents a plane

perpendicular to the plane

A. YOZ

B. ZOX

by + cz + d = 0

https://dl.doubtnut.com/l/_dfOT55rhFgl7
https://dl.doubtnut.com/l/_ueC8SPjcZDvQ
https://dl.doubtnut.com/l/_2MeRbNalPjC1


C. XOY

D. z=k

Answer: A

Watch Video Solution

4. The equation of a plane parallel to x-axis is

A. ax+by+cz+d =0

B. ax+by+d =0

C. by+cz+d =0

D. ax+cz+d =0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2MeRbNalPjC1
https://dl.doubtnut.com/l/_IAHcWa4fCHvD


5. The graph of the equation  in the three dimensional space

is (A) x-axis (B) y-axis (C) z-axis (D) xy-plane

A. X-axis

B. Y-axis

C. Z-axis

D. YZ-plane

Answer: A

Watch Video Solution

x2 + y2 = 0

6. If the line  is parallel to the plane  then

A. 

B. 

C. 

D. 

r̄ = ā + λb̄ r̄. n̄ = p,

b̄. n̄ = 0

b̄. n̄ = p

b̄ × n̄ = 0

b̄ × n̄ = ā

https://dl.doubtnut.com/l/_EsfcV4Vi43vQ
https://dl.doubtnut.com/l/_SZzcq35emhgY


Answer: A

Watch Video Solution

7. The angle between two planes is

A. the angles between the lines parallel to the planes from any point .

B. the angle between the tangents to them from any point

C. the angle between the normals to them from any point.

D. the angle between the lines perpendicular or parallel to the planes

from any point.

Answer: C

View Text Solution

8. If the equation of two lines are given by

 , where  are parmater , thenr̄ = ¯̄̄ā1 + λ¯̄¯b1 and r̄ = ¯̄̄ā2 + μ¯̄¯b2 λ and μ

https://dl.doubtnut.com/l/_SZzcq35emhgY
https://dl.doubtnut.com/l/_EkH4onYHdnsb
https://dl.doubtnut.com/l/_MGpLAv2pZKdE


the angle  between the lines is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ

cosθ =
¯̄̄ā1. ¯̄¯b2

|̄ ¯̄̄a1|∣∣̄ ¯̄b2∣∣

cosθ =
¯̄̄ā2. ¯̄¯b1

|̄ ¯̄̄a2|∣∣̄ ¯̄b1∣∣

cosθ =
¯̄¯b1. ¯̄¯b2

∣∣̄ ¯̄b1∣∣∣∣̄ ¯̄b2∣∣

cosθ =
¯̄̄ā1. ¯̄̄ā2

|̄ ¯̄̄a1||̄ ¯̄̄a2|

9. If is the angle between plane  and the line 

A. 

B. 

C. 

D. 

r̄. n̄ = p r̄. ā = λb̄

cos θ =
b̄. n̄

∣∣b̄∣∣|n̄|

cos θ =
ā. n̄

|ā||n̄|

sin θ =
ā. n̄

|ā||n̄|

sin θ =
b̄. n̄

∣∣b̄∣∣|n̄|

https://dl.doubtnut.com/l/_MGpLAv2pZKdE
https://dl.doubtnut.com/l/_LJ31gegcVIhD


Answer: D

Watch Video Solution

10. The length of perpendicular drawn from point A  to the plance

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(ā)

r̄. n̄ = p

∣
∣
∣

∣
∣
∣

(ā. n̄) + p

|n̄|

∣
∣
∣

∣
∣
∣

(ā. n̄) − p

|n̄|

∣
∣
∣

∣
∣
∣

(ā × n̄) + p

|n̄|

∣
∣
∣

∣
∣
∣

(ā × n̄) − p

|n̄|

11. The equation to the perpendicular from the point  to the plane

 is

(α, βγ)

ax + by + cz + d = 0

https://dl.doubtnut.com/l/_LJ31gegcVIhD
https://dl.doubtnut.com/l/_cEQ16kidMk3a
https://dl.doubtnut.com/l/_Xjz5Z822b39l


A. x + y+ z = abc

B. 

C. 

D. 

Answer: D

Watch Video Solution

a(x − α) + b(y − β) + c(z − γ) = 0

a(x − α) + b(y − β) + c(z − γ) = abc

= =
x − α

a

y − β

b

z − γ

c

12. The planne x= 0 divides the join of  in the

ratio

A. 

B. 

C. 

D. 

Answer: A

( − 2, 3, 4) and (1, − 2, 3)

2: 1

3: 2

4: − 3

2: 5

https://dl.doubtnut.com/l/_Xjz5Z822b39l
https://dl.doubtnut.com/l/_2WC6f12waRh2


Watch Video Solution

13. XOZ-plane divides the join of (2,3,1) and (6,7,1) in the ratio a. 3:7 b. 2:7
c.

-3:7 d. -2:7

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3: 7

−2: 7

−3: 7

7: 3

14. The ration in which the line joining points  is

divided by XY - plane is

A. 

(3, 4, − 7) and (4, 2, 1)

7: 1

https://dl.doubtnut.com/l/_2WC6f12waRh2
https://dl.doubtnut.com/l/_LpZF7ki3G2xq
https://dl.doubtnut.com/l/_4Y9bBPoktXM9


B. 

C. 

D. 

Answer: A

Watch Video Solution

−3: 4

−2: 1

2: 3

15. The co-ordinate of the point in which the line joining the points (3, 5,

-7) and (-2, 1, 8) is inscribed by YZ-plane are

A. 

B. (2,13 ,1)

C. 

D. 

Answer: A

Watch Video Solution

(0, , 2)
13

5

( , , )
13

5

6

5

3

5

(2, 0, )
13

5

https://dl.doubtnut.com/l/_4Y9bBPoktXM9
https://dl.doubtnut.com/l/_nCYQYc2gB9tI


16. The ration in which the plane 4x+5y-3z=8 divides the line joining the

point  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 2, 1, 5) and (3, 3, 2)

3: 2

5: 3

1: 4

2: 1

17. Find the vector equation of the plane passing through a point having

position vector  and perpendicular to the vector 

.

A. 

3 î − 2ĵ + 3k̂

4 î + 3ĵ + 2k̂

r̄. (4 î + 3ĵ + 2k̂) = 12

https://dl.doubtnut.com/l/_nCYQYc2gB9tI
https://dl.doubtnut.com/l/_dX2SZRpr2Fwj
https://dl.doubtnut.com/l/_TZ3FUeFcW6kl


B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄. (4 î + 3ĵ + 2k̂) = 16

r̄. (4 î + 3ĵ + 2k̂) = 8

r̄. (4 î + 3ĵ + 2k̂) = 20

18. Find the vector equation of the plane passing through the point

having position vector  and perpendicular to the vector 

.

A. 

B. 

C. 

D. 

Answer: A

2 î + 3ĵ + 4k̂

2 î + ĵ − 2k̂

r̄. (2 î + ĵ − 2k̂) = − 1

r̄. (2 î + ĵ − 2k̂) = 8

r̄. (2 î + ĵ − 2k̂) = 9

r̄. (2 î + ĵ − 2k̂) = 15

https://dl.doubtnut.com/l/_TZ3FUeFcW6kl
https://dl.doubtnut.com/l/_nQJPTzavuDw1


Watch Video Solution

19. Find the vector and Cartesian equation of the plane that passes

throgh the point (1,0,-2) and the normal vector to the plane is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

î + ĵ − k̂.

r̄. ( î + ĵ + k̂) = − 1

r̄. ( î + ĵ + k̂) = 1

r̄. ( î + ĵ + k̂) = − 2

r̄. ( î + ĵ + k̂) = 2

20. The equation of the plane passing through the point (-1, 2, 1) and

perpendicular to the line joining the points (-3, 1, 2) and (2, 3, 4) is · · · · · ·

A. r̄. (5 î + 2ĵ + 2k̂) = − 5

https://dl.doubtnut.com/l/_nQJPTzavuDw1
https://dl.doubtnut.com/l/_RKnU4Cp44eAM
https://dl.doubtnut.com/l/_bZ1Vl5T0QnKo


B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄. (5 î + 2ĵ + 2k̂) = 4

r̄. (5 î + 2ĵ + 2k̂) = 1

r̄. (5 î + 2ĵ + 2k̂) = 2

21. The eyation of plane passing through the point (1 ,1 ,2) having 2 ,3 ,2 as

direction ratios of normal to the plance is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r̄. (2 î + 3ĵ + 2k̂) = 2

r̄. (2 î + 3ĵ + 2k̂) = 9

r̄. (2 î + 3ĵ + 2k̂) = 4

r̄. (2 î + 3ĵ + 2k̂) = 5

https://dl.doubtnut.com/l/_bZ1Vl5T0QnKo
https://dl.doubtnut.com/l/_xn3mFJpQxnJb


22. Find the equation of the plane passing through the point 

having 
as direction ratios of normal to the plane.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 1, 2)

2, 3, 2

r̄. (3 î + 2ĵ + 3k̂) = 11

r̄. (3 î + 2ĵ + 3k̂) = 5

r̄. (3 î + 2ĵ + 3k̂) = 1

r̄. (3 î + 2ĵ + 3k̂) = − 1

23. If the foot of the perpendicular drawn from the point (0,0,0) to the

plane is (4,-2,-5) then the equation of the plane is . . .

A. 

B. 

r̄. ( î + 2ĵ + 3k̂) = 1

r̄. ( î + 2ĵ + 3k̂) = 14

https://dl.doubtnut.com/l/_xn3mFJpQxnJb
https://dl.doubtnut.com/l/_67BngRhpb4ny
https://dl.doubtnut.com/l/_A2gGKQoWGPbD


C. 

D. 

Answer: B

Watch Video Solution

r̄. ( î + 2ĵ + 3k̂) = 9

r̄. ( î + 2ĵ + 3k̂) = 4

24. If  such that  makes equal acute angles with co-ordinate is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

|n̄| = 3√3 n̄

3( î + ĵ + k̂)

î + ĵ + k̂

√3( î + ĵ + k̂)

3√3( î + ĵ + k̂)

https://dl.doubtnut.com/l/_A2gGKQoWGPbD
https://dl.doubtnut.com/l/_R6351yTjwaec


25. if  such that  makes equal acute angles with co-ordinate

axes , then the equation of plance in vector form passing througt

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|n̄| = 3√3 n̄

( − 1, 1, 2)

r̄. ( î + ĵ + k̂) = 1

r̄. ( î + ĵ + k̂) = 2

r̄. ( î + ĵ + k̂) = √3

r̄. ( î + ĵ + k̂) = 3

26. if  such that  makes eequal acute angles with co-ordinate

axes , then the equation of plane in cartesian form passing through

 is

A. 

|n̄| = 3√3 n̄

( − 1, 1, 2)

x + y + z = 3

https://dl.doubtnut.com/l/_fmZwmWe7WQDF
https://dl.doubtnut.com/l/_DzX7QMDtvoi7


B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y + z = √3

x + y + z = 2

x + y + z = 1

27. Find the vector and cartesian equations of the plane that passes

through the point  and normal to the plane is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 1, − 2) hti + ĵ + k̂

x + y + z = 1

x + y + z = − 1

x + y + z = − 2

x + y + z = 3

https://dl.doubtnut.com/l/_DzX7QMDtvoi7
https://dl.doubtnut.com/l/_zpFLCGYvJwrT


28. Find the vector equation of the plane passing through the point

having position vector  and perpendicular to the vector 

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 î + 3ĵ + 4k̂

2 î + ĵ − 2k̂

2x + y − 2z = − 7

2x + y − 2z = − 9

2x + y − 2z = 1

2x + y − 2z = − 1

29. If the foot of the perpendicular drawn from the point (0,0,0) to the

plane is (4,-2,-5) then the equation of the plane is . . .

A. 4x − 2y − 5z = 16

https://dl.doubtnut.com/l/_zpFLCGYvJwrT
https://dl.doubtnut.com/l/_UW5DaRn3uHvr
https://dl.doubtnut.com/l/_W0fTIEpJYUMm


B. 

C. 

D. 

Answer: D

Watch Video Solution

4x − 2y − 5z = 4

4x − 2y − 5z = 25

4x − 2y − 5z = 45

30. The equation of plance passing through the point  having 3,

2,3 as direction ratios of normal to the plance is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1, 1 − 2)

3x + 2y + 3z = − 1

3x + 2y + 3z = 1

3x + 2y + 3z = − 11

3x + 2y + 3z = 11

https://dl.doubtnut.com/l/_W0fTIEpJYUMm
https://dl.doubtnut.com/l/_OOK6yaJwrWAo


31. The equation of plance passing through the point (1 ,1 -2) having 2, 3, 2

as direction ratios of normal to the plance is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + 3y + 2z = 7

2x + 3y + 2z = − 7

2x + 3y + 2z = 9

2x + 3y + 2z = − 9

32. The equation of plane passing throught the point (1 ,2 ,3) and the

direction cosines of the normal to which are  is

A. 

B. 

l, m, n

lx + my + nz = l + 2m + 3n

lx + my + nz = l

https://dl.doubtnut.com/l/_OOK6yaJwrWAo
https://dl.doubtnut.com/l/_4fa4s95ke65n
https://dl.doubtnut.com/l/_mbVAt9dSbg8c


C. 

D. 

Answer: A

Watch Video Solution

+ + = 0
x − 1

l

y − 2

m

z − 3

n

+ + = 0
lx

1

my

2
nz

3

33. The equation of plance through the points (1 , 1 ,0 ) and (2 , 2 ,3 ) and

parallel to the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= =
x − 1

1

y − 1

−2

z − 2

3

r̄. (10 î − ĵ − 4k̂) = 9

r̄. (10 î − ĵ − 4k̂) = − 9

r̄. (10 î − ĵ + 4k̂) = 9

r̄. (10 î − ĵ + 4k̂) = − 9

https://dl.doubtnut.com/l/_mbVAt9dSbg8c
https://dl.doubtnut.com/l/_bJHAoCunjsri
https://dl.doubtnut.com/l/_D8RFnnubbRPm


34. The equation of plane passing throught 

and is perpendicular to  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 1, 1) and (1, − 1, − 1)

2x − y + z + 5 = 0

2x + 5y + z − 8 = 0

x + y − z − 1 = 0

2x + 5y + z + 4 = 0

x − y + z + 1 = 0

35. The equation of the plane passing through the points (0,1,2) and

(-1,0,3) and perpendicular to the plane  is

A. 

B. 

C. 

2x + 3y + z = 5

3x − 4y + 18z + 32 = 0

3x + 4y − 18z + 32 = 0

4x + 3y − 17z + 31 = 0

https://dl.doubtnut.com/l/_D8RFnnubbRPm
https://dl.doubtnut.com/l/_LBdaKh37Ra38


D. 

Answer: D

Watch Video Solution

4x − 3y + z + 1 = 0

36. Find the vector equation of the plane which is at a distance of 5 units

from the origin and which is normal to the vector .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 î + ĵ + 2k̂

r̄. (2 î + ĵ + 2k̂) = 3

r̄. (2 î + ĵ + 2k̂) = 5

r̄. (2 î + ĵ + 2k̂) = 15

r̄. (2 î + ĵ + 2k̂) = 45

https://dl.doubtnut.com/l/_LBdaKh37Ra38
https://dl.doubtnut.com/l/_5yPuBv7egBpd


37. Find the vector equation of the plane which is at a distance of 6 units

from the origin and which is normal to the vector .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 î − ĵ + 2k̂

r̄. (2 î − ĵ + 2k̂) = 3

r̄. (2 î − ĵ + 2k̂) = 6

r̄. (2 î − ĵ + 2k̂) = 9

r̄. (2 î − ĵ + 2k̂) = 18

38. Reduce the equation  to the normal form

and hence find the length of perpendicular from the origin to the plane.

A. 

B. 

C. 

r̄ ⋅ (3 î − 4ĵ + 12k̂) = 3

r̄. ( î − ĵ + k̂) = 3
3

13
4
13

12

13

r̄. ( î − ĵ + k̂) = 13
3

13
4
13

12

13

r̄. ( î − ĵ + k̂) =
3

13
4
13

12

13

3

13

https://dl.doubtnut.com/l/_YNg2Ow0kLzM1
https://dl.doubtnut.com/l/_9Paw3Oohd5S8


D. 

Answer: C

Watch Video Solution

r̄. ( î − ĵ + k̂) =
3

13
4
13

12

13

13

3

39. Reduce the equation  to the normal form

and hence find the length of perpendicular from the origin to the plane.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r̄ ⋅ (3 î − 4ĵ + 12k̂) = 3

3

13

4
13

12

13

13

3

https://dl.doubtnut.com/l/_9Paw3Oohd5S8
https://dl.doubtnut.com/l/_aINbj5REtCIC


40. Equation of the plane is  


Find the length of the perpendicular from the origin to the plane.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r̄ ⋅ (3 î − 4ĵ + 12k̂) = 8

r̄. ( î − ĵ + k̂) =
3

13
4
13

12

13

3

13

r̄. ( î − ĵ + k̂) =
3

13
4
13

12

13

8

13

r̄. ( î − ĵ + k̂) =
3

13
4
13

12

13
4
13

r̄. ( î − ĵ + k̂) =
3

13
4
13

12

13

12

13

41. Equation of the plane is  


Find the length of the perpendicular from the origin to the plane.

A. 

B. 

C. 

r̄ ⋅ (3 î − 4ĵ + 12k̂) = 8

3

13

4
13

12

13

https://dl.doubtnut.com/l/_4aMiHAkuxwAt
https://dl.doubtnut.com/l/_Gp1iCLj3EAWh


D. 

Answer: D

Watch Video Solution

8

13

42. If a line joining (1 ,2 ,0) and (4 ,13 ,5 ) is perpendicular to aplane ,then

the coefficients of x , y , and z in equation of the plane are respectively

A. 5 ,15 ,5

B. 3 , 11 , 5

C. 

D. 

Answer: B

Watch Video Solution

3, − 11, 5

−5, − 15, 5

https://dl.doubtnut.com/l/_Gp1iCLj3EAWh
https://dl.doubtnut.com/l/_j7yduqP7p7Cd


43. The direaction cosines of perpendicular from orgin to the plane

 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r̄. (2 î + 3ĵ + 6k̂) + 7 = 0

, ,
−2

7

−3

7

−6

7

, ,
2

7

3

7

6

7

, ,
2

7

−3

7

6

7

, ,
2

7

−3

7

−6

7

44. The direction cosines of the normal to the plance 

are

A. 

B. 

C. 

4x + 8y + z = 5

, ,
4
5

8

5

1

5

, ,
4
9

8

9

1

9

, ,
4
45

8

45

1

45

https://dl.doubtnut.com/l/_qVCxlQCAJUQl
https://dl.doubtnut.com/l/_6tizIugsQgTp


D. 

Answer: B

Watch Video Solution

, ,
4
3

8

3

1

3

45. The vector equation of the plane

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄ = (2 î + k̂) + λî + μ( î + 2ĵ − 3k̂)

r̄. (2 î + 3ĵ + 2k̂) = 2

r̄. (2 î + 3ĵ − 2k̂) = 2

r̄. (3ĵ + 2k̂) = 2

r̄. (3ĵ − 2k̂) = 2

https://dl.doubtnut.com/l/_6tizIugsQgTp
https://dl.doubtnut.com/l/_y7d1JpNfEFCj


46. Find the vector equation of the following planes in cartesian form : 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

          
→
r = î − ĵ + λ( î + ĵ + k̂) + μ( î − 2ĵ + 3k̂)

r̄. (5 î − 2ĵ − 3k̂) = 7

r̄. (5 î − 2ĵ − 3k̂) = 5

r̄. (5 î + 2ĵ − 3k̂) = 7

r̄. (5 î + 2ĵ − 3k̂) = 5

47. Let a plane passing through point  is parallel to the vector

 and the line  . The

vector equation of plane is

A. 

B. 

( − 1, 1, 1)

2 î + 3ĵ − 7k̂ r̄ = ( î − 2ĵ − k̂) + λ(3 î − 8ĵ + 2k̂)

r̄. (2 î + ĵ + k̂) = 2

r̄. (2 î + ĵ + k̂) = 0

https://dl.doubtnut.com/l/_pKHLfarG9uOo
https://dl.doubtnut.com/l/_IvB1wQS8ootk


C. 

D. 

Answer: B

Watch Video Solution

r̄. (2 î − ĵ − k̂) = 2

r̄. (2 î − ĵ − k̂) = 0

48. The vector equation of the plance passing through the point

 and parallel to vectors  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 1, 2, − 5) 4 î − ĵ + 3k̂ and î + ĵ − k̂

r̄. ( − 2 î + 7ĵ + 5k̂) = 13

r̄. ( − 2 î + 7ĵ + 5k̂) = − 13

r̄. ( − 2 î + 7ĵ + 5k̂) = − 9

r̄. ( − 2 î + 7ĵ + 5k̂) = 9

https://dl.doubtnut.com/l/_IvB1wQS8ootk
https://dl.doubtnut.com/l/_kbVhNO0hTqpJ
https://dl.doubtnut.com/l/_xmDuL2KIrD02


49. Find the cartesian form of the equation of the plane. 

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

r̄ = ( î + ĵ) + s( î − ĵ + 2k̂) + t( î + 2ĵ + k̂)

5x + y + 3z = − 4

5x + y + 3z = 4

5x − y − 3z = − 4

3x − y − z = 2

50. The cartesian form of the equation of plane

 is

A. 

B. 

C. 

r̄ = (s + t) î + (2 + t) ĵ + (3s + 2t)k̂

3x + y + z = − 2

3x + y + z = 2

3x − y − z = − 2

https://dl.doubtnut.com/l/_xmDuL2KIrD02
https://dl.doubtnut.com/l/_NrSPk80cUx8D


D. 

Answer: C

Watch Video Solution

3x − y − z = 2

51. The equation of plane passing through point (3 ,4 ,5) and parallel to

the vectors  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

î + 2ĵ + 3k̂ and 3 î + 2ĵ + 4k̂

x + 5y − 4z + 6 = 0

2x + 5y − 4z − 6 = 0

2x − 5y + z − 6 = 0

2x + y + 4z − 7 = 0

https://dl.doubtnut.com/l/_NrSPk80cUx8D
https://dl.doubtnut.com/l/_tVFfqYTyQjeD


52. Find the vector equation of the plane passing through the

intersection of the planes 

 and through the point

(2, 1, 3).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄ ⋅ (2 î + 2ĵ − 3k̂) = 8, r̄ ⋅ (2 î + 4ĵ + 3k̂) = 7

r̄. (42 î + 64ĵ + 3k̂) = 85

r̄. (21 î + 32ĵ + 6k̂) = 85

r̄. (42 î + 64ĵ + 3k̂) = 157

r̄. (21 î + 32ĵ + 6k̂) = 157

53. The vector equation of the plane passing through the intersection of

the planes  and the

point (1 , 0 , 2 ) is

r̄. ( î + ĵ + k̂) = 8 and r̄. (2 î + 3ĵ + 4k̂) = 3

https://dl.doubtnut.com/l/_TUkeyTtwqLfJ
https://dl.doubtnut.com/l/_ctdCeej9fGZO


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r̄. (17 î + 22ĵ + 27k̂) = 71

r̄. (17 î + 22ĵ + 27k̂) = 41

r̄. (11 î + 16ĵ + 21k̂) = 71

r̄. (11 î + 16ĵ + 21k̂) = 41

54. The equation of plane passing through the intersection of the planes

 and parallel to X - axis is

A. 

B. 

C. 

D. 

Answer: A

r̄. ( î + ĵ + k̂) = 2 and r̄. (2 î + 3ĵ + k̂) = 4

r̄. ( − ĵ + k̂) = 0

r̄. (ĵ + k̂) = 0

r̄. ( − ĵ + k̂) = 4

r̄. ( − ĵ + k̂) = − 2

https://dl.doubtnut.com/l/_ctdCeej9fGZO
https://dl.doubtnut.com/l/_glrubC0TC9ap


Watch Video Solution

55. The vector equation of the plane passing tgrough the intersection of

planes  and

perpendicular to the plane  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r̄. (2 î − 3ĵ + 4k̂) = 1 and r̄. ( î − ĵ) + 4 = 0

r̄. (2 ī − ĵ + k̂) = − 5

r̄. (5 ī − 2ĵ + 12k̂) = 47

r̄. ( − 5 ī + 2ĵ + 12k̂) = 47

r̄. (5 ī − 2ĵ + 4k̂) = 47

r̄. ( − 5 ī + 2ĵ + 4k̂) = 47

56. The direation ratios of the normal to the plane passing through the

point (2 ,1 ,0 ) and the line of intersection of the planes

 isx − 2y + 3z = 4 and x − y + z = 3

https://dl.doubtnut.com/l/_glrubC0TC9ap
https://dl.doubtnut.com/l/_FcD0PvMkmt7E
https://dl.doubtnut.com/l/_NocJbcLmZaNQ


A. 1 , 1 , 0

B. 

C. 1 ,0 ,1

D. 

Answer: D

Watch Video Solution

1, − 1, 0

1, 0, − 1

57. Find the equation of the plane passing through the intersection of

the planes 

3x + 2y - z + 1 = 0 and x + y + z - 2 = 0 and the point (2, 2, 1).

A. 

B. 

C. 

D. 

x − 4y − 13z = 23

x + 4y − 13z = 23

x − 4y + 13z = 23

x + 4y + 13z = 23

https://dl.doubtnut.com/l/_NocJbcLmZaNQ
https://dl.doubtnut.com/l/_GyEAiYAOtwrH


Answer: D

Watch Video Solution

58. Find the equation of a plane containing the line of intersection
of the

planes 
 passing through 


.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y + z − 6 = 0and2x + 3y + 4z + 5 = 0

(1, 1, 1)

10x + 13y + 16z + 39 = 0

10x − 13y + 16z + 39 = 0

10x + 13y − 16z + 39 = 0

10x + 13y − 16z − 39 = 0

https://dl.doubtnut.com/l/_GyEAiYAOtwrH
https://dl.doubtnut.com/l/_yDbjRgFTDuET


59. The equation of plane passing through the line of intersection of

planes  and parallel to X-axis is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y + z − 2 = 0, 2x + 3y + z − 4 = 0

x − y = 0

y − 2z = 5

y − z = 0

x − y = 3

60. The plane through the intersection of the planes  and 

 and parallel to Y-axis also passes through the point

A. 

B. 

C. 

x + y + z = 1

2x + 3y − z + 4 = 0

x + z − 3 = 0

x + 4z − 7 = 0

x + y − 3 = 0

https://dl.doubtnut.com/l/_gxMS1A3Dhnvh
https://dl.doubtnut.com/l/_4BrFbEJ1uApE


D. 

Answer: B

Watch Video Solution

y + 2z + 5 = 0

61. The equation of plane passing through the line of intersection of

planes  and parallel to the line 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − y + z = 3, 4x − 3y − 5z + 9 = 0

= =
x + 1

2

y + 3

4

z − 3

5

11x − 3y − 2z − 54 = 0

11x − 3y + 2z − 54 = 0

11x + 3y − 2z − 54 = 0

11x − 3y − 2z + 54 = 0

https://dl.doubtnut.com/l/_4BrFbEJ1uApE
https://dl.doubtnut.com/l/_zV7dbbaXXjmk
https://dl.doubtnut.com/l/_eaxY3zkSOh1I


62. Find the equation of the plane whch passes through the line

 and which is

parallel to the line 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a1x + b1y + c1y + c1z + d1 = 0a2x + b2y + c2z + d2 = 0

= =
x − α

l

y − β

m

z − γ

n

(a2l + b2m + c2n)(a1x + b1y + c1z + d1) + (a1l + b1m + c1n)(a2x +

(a2l + b2m + c2n)(a1x + b1y + c1z + d1) − (a1l + b1m + c1n)(a2x +

(a1l + b1m + c1n)(a1x + b1y + c1z + d1) + (a2l + b2m + c1n)(a2x +

(a1l + b1m + c1n)(a1x + b1y + c1z + d1) − (a2l + b2m + c1n)(a2x +

https://dl.doubtnut.com/l/_eaxY3zkSOh1I


63. The equation of plane through the line of intersection of the planes

 and perpendicular to the

plane 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y + 4z − 7 = 0, x + y + z − 1 = 0

x + y + z − 1 = 0

x + 2y + 3z = 6

x − 2y + z = 6

2x − y + z = 5

x − 2y + 6z = 3

64. Find the vector equation of the plane passing through the point

 and 

A. 

B. 

î + ĵ − 2k̂ î + 2ĵ + k̂, 2 î − ĵ + k̂.

r̄. (9 î + 3ĵ − k̂) = 4

r̄. (9 î + 3ĵ − k̂) = 8

https://dl.doubtnut.com/l/_db7DukbL9zur
https://dl.doubtnut.com/l/_vLinrGxY80On


C. 

D. 

Answer: C

Watch Video Solution

r̄. (9 î + 3k̂ − k̂) = 14

r̄. (9 î + 3k̂ − k̂) = 16

65. The equation of plane in vector form passing through the points

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 0, 1), (1, − 1, 1) and (4, − 3, 2)

r̄. ( î − 3k̂) = 2

r̄. ( − î + 3k̂) = 2

r̄. ( î − 3k̂) = 4

r̄. ( − î + 3k̂) = 4

https://dl.doubtnut.com/l/_vLinrGxY80On
https://dl.doubtnut.com/l/_aSHBi8BO5bLm
https://dl.doubtnut.com/l/_xhCzDmPFMsPM


66. The vector equation of the plane passing through the points

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 2, 1), (2, − 1, − 3) and (0, 1, 5)

r̄. ( î − 4k̂) = 5

r̄. ( î + 4k̂) = 5

r̄. ( î − 4k̂) = 5

r̄. ( î + 4k̂) = 5

67. The vector equation of the plane passing through the points

 is

A. 

B. 

C. 

(1, 12), (0, 2, 3) and (4, 5, 6)

r̄. (7ĵ + 7k̂) = − 7

r̄. (7ĵ + 7k̂) = 7

r̄. (7ĵ − 7k̂) = − 7

https://dl.doubtnut.com/l/_xhCzDmPFMsPM
https://dl.doubtnut.com/l/_UtXJpNejEbcE


D. 

Answer: C

Watch Video Solution

r̄. (7ĵ − 7k̂) = 7

68. The cartesian equation of the plane passing through the points

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1, 1, 2), (0, 2, 3) and (4, 5, 6)

y − z + 1 = 0

y + z − 1 = 0

y − z − 1 = 0

y + z + 1 = 0

https://dl.doubtnut.com/l/_UtXJpNejEbcE
https://dl.doubtnut.com/l/_dRDpFZzxMv5z


69. Find the equation of the
 plane passing through the line


and point 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

5

y + 2

6

z − 3

4
(4, 3, 7).

4x + 8y + 7z = 41

4x − 8y + 7z = 41

4x − 8y − 7z = 41

4x − 8y + 7z = 39

70. Write the equation of the plane  in 


the vector form .

A. 

B. 

C. 

3x + 4y − 2z = 5

r̄. (3 î + 4ĵ + 2k̂) = 5

r̄. (3 î + 4ĵ − 2k̂) = 5

r̄. (3 î − 4ĵ + 2k̂) = 5

https://dl.doubtnut.com/l/_cw80O06qJjrv
https://dl.doubtnut.com/l/_XuLVdJ1vRUtm


D. 

Answer: B

Watch Video Solution

r̄. (3 î − 4ĵ − 2k̂) = 5

71. If  is the foot of the perpendicular drawn from origin to

a plane , then the equation of plane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 3, 5, − 8)

3x + y − 5z − 11 = 0

3x − 5y + 8z + 98 = 0

x − 5y + 8z − 15 = 0

2x + 4y − 3z + 29 = 0

https://dl.doubtnut.com/l/_XuLVdJ1vRUtm
https://dl.doubtnut.com/l/_JlNtF0pdMwnI


72. The foot of the perpendicular drow from origin to the plane

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y + 3z − 4 = 0

( , , )
1

11

1

11

3

11

( , , )
4
11

4
11

12

11

( , , )
1

√11

1

√11

3

√11

( , , )
4

√11

4

√11

12

√11

73. The foot of the perpendicular drown from to the origin to the plane

 is

A. 

B. 

C. 

x + y + 3z − 8 = 0

( , , )
8

11

8

11
24
11

( , , )
1

11

1

12

3

11

( , , )
3

11

5

11
4
11

https://dl.doubtnut.com/l/_dt6J5ZrdHaXf
https://dl.doubtnut.com/l/_RKd6DT21i39u


D. 

Answer: A

Watch Video Solution

(4, 4, 11)

74. The length of the perpendicular from origin to the plane

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − 3y + 4z = 6

3

√26

6

√26

3

√13

6

√13

https://dl.doubtnut.com/l/_RKd6DT21i39u
https://dl.doubtnut.com/l/_SSHdGKUqQmyo


75. The disatance of the point  from the point of intersection of

the line  and the plane , is

A. 

B. 

C. 13

D. 8

Answer: C

Watch Video Solution

(1, 0, 2)

= =
x − 2

3

y + 1

4

z − 2

12
x − y + z = 16

3√21

2√14

76. If plane passes through the point (1, 1,1) and is perpendicular to the

line, , then its perpendicular distance from the

origin is

A. 

B. 

= =
x − 1

3

y − 1

0

z − 1

4

4

25

4

5

https://dl.doubtnut.com/l/_zDi9ox7MuQJE
https://dl.doubtnut.com/l/_cN0NzmDWIgI0


C. 

D. 

Answer: D

Watch Video Solution

7
25

7
5

77. The foot of the perpendicular from the point A(7,14,5) to the plane

 is

A. (13 ,26 ,8)

B. 

C. (1 , 2, 8)

D. 

Answer: C

Watch Video Solution

2x + 4y − z = 2

( − 13, − 26, 8)

( − 1, − 2, − 8)

https://dl.doubtnut.com/l/_cN0NzmDWIgI0
https://dl.doubtnut.com/l/_HCNEElwhcte9
https://dl.doubtnut.com/l/_ezqzYiDLPNIK


78. Find the length and the
 foot of the perpendicular from the point


to the plane 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(7, 14, 5) 2x + 4y − z = 2.

√21

4√21

2√21

3√21

79. The equation of line passing through the point (2, 3, 4) and

perpendicular to plane  is

A. 

B. 

C. 

2x + 3y + z + 5 = 0

= =
x − 2

1

y − 3

2
z − 4

3

= =
x − 2

3

y − 3

2
z − 4

1

= =
x − 2

2

y − 3

3
z − 4

1

https://dl.doubtnut.com/l/_ezqzYiDLPNIK
https://dl.doubtnut.com/l/_hEjin9WDtYgZ


D. 

Answer: C

Watch Video Solution

= =
x − 2

1

y − 3

3
z − 4

2

80. Find the angles at which the normal vector to tehplane


is inclined to the coordinate axes.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4x + 8y + z = 5

cos − 1( )
8

9

cos − 1( )
1

9

cos − 1( )
2

9

cos − 1( )
4
9

https://dl.doubtnut.com/l/_hEjin9WDtYgZ
https://dl.doubtnut.com/l/_2483B3gzIaZ1


81. Find the angles at which the normal vector to tehplane


is inclined to the coordinate axes.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + 8y + z = 5

cos − 1( )
8

9

cos − 1( )
1

9

cos − 1( )
2

9

cos − 1( )
4
9

82. The angle at which the normal vector to the plane 

inclined to the Z-axis is

A. 

B. 

C. 

4x + 8y + z = 5

cos − 1( )
8

9

cos − 1( )
1

9

cos − 1( )
2

9

https://dl.doubtnut.com/l/_3xefGoC0sztJ
https://dl.doubtnut.com/l/_tLDREqivqMFD


D. 

Answer: B

Watch Video Solution

cos − 1( )
4
9

83. The angle between the line of intersection of planes

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r̄. ( î + 3ĵ − 2k̂) = 0, r̄. (2 î + 4ĵ − 3k̂) = 0 and î

cos − 1( )
1

√6

cos − 1( )
4

√6

cos − 1( )
8

√6

cos − 1( )
2

√6

https://dl.doubtnut.com/l/_tLDREqivqMFD
https://dl.doubtnut.com/l/_a55diK1F1pQR


84. The angle between the line of intersection of planes

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r̄. ( î + 3ĵ − 2k̂) = 0, r̄. (2 î + 4ĵ − 3k̂) = 0 and ĵ

cos − 1( )
1

√6

cos − 1( )
4

√6

cos − 1( )
8

√6

cos − 1( )
2

√6

85. The angle between the line of intersection of planes

 is

A. 

B. 

r̄. ( î + 3ĵ − 2k̂) = 0, r̄. (2 î + 4ĵ − 3k̂) = 0 and k̂

cos − 1( )
1

√6

cos − 1( )
4

√6

https://dl.doubtnut.com/l/_nqMyuXwA7fzg
https://dl.doubtnut.com/l/_xZpioA0ixgE5


C. 

D. 

Answer: D

Watch Video Solution

cos − 1( )
8

√6

cos − 1( )
2

√6

86. Find the angle between the planes whose vector equations are 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r̄ ⋅ (2 î + 2ĵ − 3k̂) = 5 and r̄ ⋅ ( î − 2ĵ + k̂) = 7

cos − 1( )
11

√238

cos − 1( )
13

√238

cos − 1( )
15

√238

cos − 1( )
9

√238

https://dl.doubtnut.com/l/_xZpioA0ixgE5
https://dl.doubtnut.com/l/_JoALhR5hRXoR


87. The angle between planes

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄. (2 î + ĵ − k̂) = 3 and r̄. ( î + 2ĵ + k̂) = 1

30∘

45∘

60∘

90∘

88. If the angle between the planes

 is , then

m=

A. 2

B. 

r. (mî − ĵ + 2k̂) + 3 = 0 and r ⋅ (2 î − mĵ − k̂) − 5 = 0
π

3

±3

https://dl.doubtnut.com/l/_HGDFTsd4hBWB
https://dl.doubtnut.com/l/_YgQSIJL2BTUk


C. 3

D. 

Answer: C

Watch Video Solution

−2

89. The acute angle between the two planes  

= 3 and 3x - 2y + 2z = 7 ` is …….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y + 2z

cos − 1( )
3

√102

cos − 1( )
1

√102

cos − 1( )
9

√102

cos − 1( )
5

√102

https://dl.doubtnut.com/l/_YgQSIJL2BTUk
https://dl.doubtnut.com/l/_pCmfM6K0qei7
https://dl.doubtnut.com/l/_ON5T6qvY3EFN


90. The angle between planes

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x − 6y + 2z = 8 and 2x + 2y − 2z = 10

cos − 1( )
10

7√3

cos − 1( )
5

7√3

cos − 1( )
5

14√3

cos − 1( )
5√3

7

91. The angle between planes 

is

A. 

B. 

3x − 6y + 2z = 8 and 2x + 2y − 2z = 10

30∘

60∘

https://dl.doubtnut.com/l/_ON5T6qvY3EFN
https://dl.doubtnut.com/l/_h7ZqyY9zpg6i


C. 

D. 

Answer: D

Watch Video Solution

45∘

90∘

92. If the planes 

be mutually perpendicular , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax + by + cz + d = 0 and a1x + b1y + c1z + d1 = 0

= =
a

a1

b

b1

c

c1

= = = 0
a

a1

b

b1

c

c1

aa1 + bb1 + cc1 = 1

aa1 + bb1 + cc1 = 0

https://dl.doubtnut.com/l/_h7ZqyY9zpg6i
https://dl.doubtnut.com/l/_yVfiKwXP6pym
https://dl.doubtnut.com/l/_vZO4YzURrzQm


93. The value of k for which the planes

 areperpendicular to each other

is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

3x − 6y − 2z = 7 and 2x + y − kz = 5

94. If the planes  are

mutually perpendicular , then k=

A. 3

B. 

3x − 2y + 2z + 17 = 0 and 4x + 3y − kz = 25

−3

https://dl.doubtnut.com/l/_vZO4YzURrzQm
https://dl.doubtnut.com/l/_3BtVSevZmUDo


C. 9

D. 

Answer: A

Watch Video Solution

−9

95. The angle between the line  and

the plane  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄ = ( î + ĵ − k̂) + λ( î − ĵ + k̂)

r̄. ( î − 2ĵ + 3k̂) = 5

sin− 1( )
6

√7

sin− 1( )
6

√21

sin− 1( )
6

√7

sin− 1( )
7

√6

https://dl.doubtnut.com/l/_3BtVSevZmUDo
https://dl.doubtnut.com/l/_jMEB8ZzfC2o0
https://dl.doubtnut.com/l/_Wr4VPpOmlWKu


96. The angle between the line  and

the plane `barr.(2hati-hatj+hatk)=5 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r̄ = ( î + 2ĵ − k̂) + λ( î − ĵ + k̂)

sin− 1( )
4√2

3

sin− 1( )
2√2

3

sin− 1( )
2

3√2

sin− 1( )
2√3

6

97. Find the angle between the line 

and the plane .

A. 

B. 

r̄ = ( î + 2ĵ + k̂) + λ( î + ĵ + k̂)

r̄ ⋅ (2 î − ĵ + k̂) = 5

cos − 1( )
√2

3

sin− 1( )
√2

3

https://dl.doubtnut.com/l/_Wr4VPpOmlWKu
https://dl.doubtnut.com/l/_iXC9HVAVIVEb


C. 

D. 

Answer: B

Watch Video Solution

tan− 1( )
√2

3

sin− 1( )
√2

√3

98. Find the angle between line 
and the plane

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x + 1

3

y − 1

2

z − 2

4

2x + y − 3z + 4 = 0.

30∘

60∘

sin− 1( )
−4

√406

con− 1( )
4

√406

https://dl.doubtnut.com/l/_iXC9HVAVIVEb
https://dl.doubtnut.com/l/_sqH1Tm5GTlYW


99. Find the angle between the line  and the

plane  .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

3

y + 1

2

z + 2

4

2x + y − 3z + 4 = 0

sin− 1( )
−8

√406

sin− 1( )
−4

√406

sin− 1( )
−16

√406

sin− 1( )
−2

√406

100. The acute angle between the line  and the

plane  is

A. 

B. 

= =
x + 1

2

y

3

z − 3

6

10x + 2y − 11z = 8

sin− 1( )
4
21

sin− 1( )
4

7

https://dl.doubtnut.com/l/_avIGgmzdPl0q
https://dl.doubtnut.com/l/_tkGvxmeaIX0j


C. 

D. 

Answer: C

Watch Video Solution

sin− 1( )
8

21

sin− 1( )
8

7

101. If the angle  between the line  and the

plane  is such that , the value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

θ = =
x + 1

1

y − 1

2

z − 2

2

2x − y + √λz + 4 = 0 sin θ =
1

3
λ

−4
3

4
3

−3

5

5

3

https://dl.doubtnut.com/l/_tkGvxmeaIX0j
https://dl.doubtnut.com/l/_VI6WXDJjh9M1
https://dl.doubtnut.com/l/_Oo8TF12YtV5m


102. If the angle  between Z-axis and the plane

A. 

B. 

C. 2

D. 

Answer: B

Watch Video Solution

θ

3x − 4y + 5z + 7 = 0  is cos − 1(k), then k =

1

2

1

√2

√2

103. If the angle between the line  and the

plane , then  equals

A. 

B. 

C. 

x = = (z − 3)(λ)
y − 1

2

x + 2y + 3z = 4is cos − 1(√ )
5

14
λ

2

3

3

2

−2

3

https://dl.doubtnut.com/l/_Oo8TF12YtV5m
https://dl.doubtnut.com/l/_n4utVJuSTX3p


D. 

Answer: A

Watch Video Solution

−3

2

104. The angle between the line

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= = and the plane 2x + y − 2z = 7
x

3

y

4
z

5

0∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_n4utVJuSTX3p
https://dl.doubtnut.com/l/_wbYXRJ1kaLPH


105. If the line  lies exactly on the plane 

, the value of k is

A. 4

B. 7

C. 

D. no real value

Answer: B

Watch Video Solution

= =
x − 4

1

y − 2

1

z − k

2

2x − 4y + z = 7

−7

106. The value of 
such that 
 lies in the plane 


is
a. 7 b. -7 c. no real value d. 4

A. 7

B. 

C. 3

k = =
x − 4

1

y − 2

1

z − k

2

2x − 4y = z = 7

−7

https://dl.doubtnut.com/l/_gpo8BappoM3K
https://dl.doubtnut.com/l/_B8HAV2z0QU0Y


D. 4

Answer: B

Watch Video Solution

107. The equation of plane passing through the point (1 ,2 ,3) and parallel

to the plane  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + 3y − 4z = 0

2x + 3y + 4z − 4 = 0

2x + 3y + 4z + 4 = 0

2x − 3y + 4z + 4 = 0

2x + 3y − 4z + 4 = 0

https://dl.doubtnut.com/l/_B8HAV2z0QU0Y
https://dl.doubtnut.com/l/_m5KkHoPJd2IX


108. The equation of the plane containing the line

 and parallel to the plane 

, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − 5y + z = 3, x + y + 4z = 5

x + 3y + 6z = 1

x + 3y + 6z = 7

2x + 6y + 12z = − 13

2x + 6y + 12z = 13

x + 3y + 6z = − 7

109. Perpendicular are drawn from points on the line

 to the plane . The feet of

perpendiculars lie on the line.

A. 

= =
x + 2

2

y + 1

−1
z

3
x + y + z = 3

= =
x

2

y − 1

−7

z − 2

−5

https://dl.doubtnut.com/l/_zrmAMu9dvY62
https://dl.doubtnut.com/l/_eSXHWLlKd1Eq


B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x

2

y − 1

7

z − 2

5

= =
x

2

y − 1

−7

z − 2

5

= =
x

2

y − 1

7

z − 2

−5

110. If the plane passing through the origin and parallel to the line

 such that the distance between them is 

then the equation of the plane is

A. 

B. 

C. 

D. 

Answer: D

= =
x − 1

2

y + 3

−1

z + 1

−2

5

3

x + 2y + 2z = 0

x − 2y − 2z = 0

x + 2y − 2z = 0

x − 2y + 2z = 0

https://dl.doubtnut.com/l/_eSXHWLlKd1Eq
https://dl.doubtnut.com/l/_TJ520Kf1WNWG


Watch Video Solution

111. If  represent the same

plane , then  =

A. 1

B. 2

C. 0

D. 3

Answer: B

Watch Video Solution

λx + 4y + 5z = 7, 4x + 4λy + 10z − 14 = 0

λ

112. If the line  is parallel to the

plane  then value of m is

A. 2

→
r = ( î − 2ĵ + 3k̂) + λ(2 î + ĵ + 2k̂)

→
r (3 î − 2ĵ + mk̂) = 10

https://dl.doubtnut.com/l/_TJ520Kf1WNWG
https://dl.doubtnut.com/l/_L5QDsEL0kvs9
https://dl.doubtnut.com/l/_loKHZvEtLC0J


B. 

C. 4

D. 

Answer: B

Watch Video Solution

−2

−4

113. If the line  is parallel to the

plane 

A. 

B. 6

C. 

D. 4

Answer: D

Watch Video Solution

r̄ = ( î − ĵ + 3k̂) + λ( î − ĵ + mk̂)

r̄. ( î + 5ĵ + k̂) = 8, then m =

−6

−4

https://dl.doubtnut.com/l/_loKHZvEtLC0J
https://dl.doubtnut.com/l/_SnKAVNNDK38u


114. The plane  is parallel to the line whose

direction ratios are  then k =

A. 5

B. 8

C. 1

D. 4

Answer: A

View Text Solution

2x + 3y + kz − 7 = 0

2, − 3, 1,

115. Find the distance between the parallel planes

A. 

B. 

2x − y + 2z + 3 = 0and4x − 2y + 4z + 5 = 0.

2

3

5

6

https://dl.doubtnut.com/l/_SnKAVNNDK38u
https://dl.doubtnut.com/l/_xCyquTsdmev0
https://dl.doubtnut.com/l/_a7nebt41PpCz


C. 

D. 

Answer: D

Watch Video Solution

1

5

1

6

116. Equation of the plane parallel to the planes 

 and equidistant from

them is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2y + 3z − 5 = 0,     x + 2y + 3z − 7 = 0

x + 2y + 3z + 12 = 0

x + 2y + 3z − 1 = 0

x + 2y + 3z − 6 = 0

x + 2y + 3z + 6 = 0

https://dl.doubtnut.com/l/_a7nebt41PpCz
https://dl.doubtnut.com/l/_8gS9s8DaoHJJ


117. If the planes

 pass through

a line, then the value of  is….

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

x − cy − bz = 0, cx − y + az = 0 and bx + ay − z = 0

a2 + b2 + c2 + 2abc

−1

118. If from a point 
 perpendiculars 
 are drawn to 


find the vectors equation of the plane 

A. 

P (a, b, c) PAandPB

YZandZX − planes OAB.

r̄. (bcî + acĵ + abk̂)

https://dl.doubtnut.com/l/_8gS9s8DaoHJJ
https://dl.doubtnut.com/l/_k4eVNN6Cvj6I
https://dl.doubtnut.com/l/_f3ZOKGMjy1zD


B. 

C. 

D. 

Answer: D

Watch Video Solution

r̄. (bcî − acĵ − abk̂)

r̄. (bcî − acĵ + abk̂)

r̄. (bcî + acĵ − abk̂)

119. If A and B are foot of perpendicular drawn from point Q(a,b,c) to the

planes yz and zx, then equation of plane through the point A,B, and O is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + = 0
x

a

y

b

z

c

− + = 0
x

a

y

b

z

c

− − = 0
x

a

y

b

z

c

+ + = 0
x

a

y

b

z

c

https://dl.doubtnut.com/l/_f3ZOKGMjy1zD
https://dl.doubtnut.com/l/_UNmuD0Bxh98k


120. If a line joining the points  is

perpendicular to the plane passing through the origin then the vector

equation of the palne is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1, − 1, 2) and (3, 2, − 1)

r̄. (2 î + 3ĵ − 3k̂) = 0

r̄. (2 î + 3ĵ − 3k̂) = 5

r̄. ( î − ĵ + 2k̂) = 0

r̄. (3 î + 2ĵ − k̂) = 5

121. The equation of the plane containing the lines

 and , is

A. coplanar

→
r = ( î + ĵ − k̂) + λ(3 î − ĵ)

→
r = (4 î − k̂) + μ)2 î + 3k̂)

https://dl.doubtnut.com/l/_UNmuD0Bxh98k
https://dl.doubtnut.com/l/_cTfPHmQ7FjQN
https://dl.doubtnut.com/l/_piBAmBaeyzN0


B. non-coplanar

C. parallel

D. perpendicular

Answer: B

Watch Video Solution

122. Show that the lines 

 and 


 


are coplanar. Also the find the equation of the plane passing through

these lines.

A. coplanar

B. non-coplanar

C. parallel

D. perpendicular

→
r = (2ĵ − 3k̂) + λ( î + 2ĵ + 3k̂)

→
r = (2 î + 6ĵ + 3k̂) + μ(2 î + 3ĵ + 4k̂)

https://dl.doubtnut.com/l/_piBAmBaeyzN0
https://dl.doubtnut.com/l/_qLxyoexSpMnD


Answer: A

Watch Video Solution

123. Show that the lines 

 and 


 


are coplanar. Also the find the equation of the plane passing through

these lines.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
r = (2ĵ − 3k̂) + λ( î + 2ĵ + 3k̂)

→
r = (2 î + 6ĵ + 3k̂) + μ(2 î + 3ĵ + 4k̂)

r̄. ( − î + 2ĵ + k̂) = 7

r̄. ( − î + 2ĵ + k̂) = − 5

r̄. ( − î + 2ĵ − k̂) = 7

r̄. ( − î + 2ĵ − k̂) = − 5

https://dl.doubtnut.com/l/_qLxyoexSpMnD
https://dl.doubtnut.com/l/_ovqoLPcefvoU
https://dl.doubtnut.com/l/_FwhuQjIIOmng


124. Prove that the lines


 are coplanar .

Aslo, find the plane containing these two lines.

A. coplanar

B. non-coplanar

C. parallel

D. perpendicular

Answer: A

Watch Video Solution

= = and = =
x + 1

3

y + 3

5

z + 5

7

x − 2

1

y − 4

4

z − 6

7

125. The equation of plane containing the lines

 


A. 

r̄ = (2ĵ − 3k̂) + λ( î + 2ĵ + 3k̂)

r̄ = (2 î + 6ĵ + 3k̂) + λ(2 î + 3ĵ + 4k̂)

x − 2y − z = 0

https://dl.doubtnut.com/l/_FwhuQjIIOmng
https://dl.doubtnut.com/l/_e5KVAOm9GK9Y


B. 

C. 

D. 

Answer: B

Watch Video Solution

x − 2y + z = 0

x + 2y − z = 0

x + 2y + z = 0

126. Show that the lines and 

are coplanar.

A. coplanar

B. non-coplanar

C. parallel

D. perpendicular

Answer: A

Watch Video Solution

= =
x + 3

−3

y − 1

1

z − 5

5

= =
x + 1

−1

y − 2

2

z − 5

5

https://dl.doubtnut.com/l/_e5KVAOm9GK9Y
https://dl.doubtnut.com/l/_aZPPoe2Jujre


127. Show that the lines

 and are

coplanar. Also, find the equation of the plane containing these lines.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= = and = =
x + 3

−3

y − 1

1
z − 5

5

x + 1

−1

y − 2

2
z − 5

5

x + 2y + z = 0

x − 2y − z = 0

x + 2y − z = 0

x − 2y + z = 0

128. दर्शाइए कि रेखाएँ  

 

और  सह-तलीय हैं |

          = =
x − a + d

α − δ

y − a

α

z − a − d

α + δ

                  = =
x − b + c

β − γ

y − b

β

z − b − c

β + γ

https://dl.doubtnut.com/l/_aZPPoe2Jujre
https://dl.doubtnut.com/l/_K9QVZ9u1Y5xS
https://dl.doubtnut.com/l/_mJ02mvDBmXBf


A. coplanar

B. non-coplanar

C. parallel

D. perpendicular

Answer: A

Watch Video Solution

129. If the lines

are coplanar, then  is equal to

A. 2

B. 

C. 0

D. 1

x = 1 + s, y = − 3 − λs, z = 1 + λs and x = , y = 1 + t, z = 2 − t
t

s

λ

−2

https://dl.doubtnut.com/l/_mJ02mvDBmXBf
https://dl.doubtnut.com/l/_NBfx61i6ozyl


Answer: B

Watch Video Solution

130. Find the distance of the point  from the plane 

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

î + 2ĵ − k̂

r̄ ⋅ ( î − 2ĵ + 4k̂) = 10

10

√21

17

√21

7

√21

3

√21

131. Find the distance of the point  from the plane 

.

2 î + ĵ + k̂)

r̄ ⋅ ( î + 2ĵ + 4k̂) = 13

https://dl.doubtnut.com/l/_NBfx61i6ozyl
https://dl.doubtnut.com/l/_5TzOnMU5SZMn
https://dl.doubtnut.com/l/_hdFSjxbkNoRR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√21

13

√21

8

√21

5

√21

132. If  and  are the lengths of perpendiculars from the points 

 and  to the plane ,

then

A. 

B. 

C. 

D. 

p1 p2

î − ĵ + 3k̂ 3 î + 4ĵ + 3k̂ r̄ ⋅ (5 î + 2ĵ − 7k̂) + 8 = 0

d1 < d2

d1 > d2

d1 = d2

d1 = 2d2

https://dl.doubtnut.com/l/_hdFSjxbkNoRR
https://dl.doubtnut.com/l/_Oha8vRGCdZDZ


Answer: C

Watch Video Solution

133. If the points  and  be equidistant from the plane 

, find the values of p.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, 1, p) ( − 3, 0, 1)

→
r . (3 î + 4ĵ − 12k̂) + 13

−1,
−7
3

1,
−7
3

−1,
7
3

1,
7
3

134. If the line  is parallel to the plane 

 then the distance between them is

r̄ = ( î + ĵ) + λ(2 î + ĵ + 4k̂)

r̄. ( − 2 î + k̂) = 5

https://dl.doubtnut.com/l/_Oha8vRGCdZDZ
https://dl.doubtnut.com/l/_2YuKw9rmuOxq
https://dl.doubtnut.com/l/_LPWmwdyPjOSY


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

√5

3

√5

7

√5

4

√5

135. The distance of point 2x+y+2z+8=0` is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2, − 1, 0)omthepla ≠

7
5

5

3

8

3

11

3

https://dl.doubtnut.com/l/_LPWmwdyPjOSY
https://dl.doubtnut.com/l/_9tQnyCQLerJf


136. Show that the points  and  are equidistant from

the plane .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 3, 0, 1) (1, 1, 1)

3x + 4y − 12z + 13 = 0

d1 < d2

d1 > d2

d1 = d2

d1 = 2d2

137. If  are the distances of points (2 ,3 ,4 ) and (1 , 1 ,4 )

respectively from the plane  are

the roots of

A. 

d1 and d2

3x − 6y + 2z + 11 = 0, thend1 and d2

16d2 + 23d + 7 = 0

https://dl.doubtnut.com/l/_9tQnyCQLerJf
https://dl.doubtnut.com/l/_DL4Pr70g4mqp
https://dl.doubtnut.com/l/_DeqwsHFjGbO9


B. 

C. 

D. 

Answer: D

Watch Video Solution

16d2 − 23d + 7 = 0

7d2 + 23d + 16 = 0

7d2 − 23d + 16 = 0

138. Find the equations of the planes parallel to the plane

, which are at a unit distance from the point (1, 2, 3).

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − 2y + 2z − 4 = 0

x − 2y + 2z = 0, x − 2y + 2z + 6 = 0

x − 2y + 2z = 0, x − 2y + 2z − 6 = 0

x − 2y + 2z = 12, x − 2y + 2z + 6 = 0

x − 2y + 2z = 12, x − 2y + 2z − 6 = 0

https://dl.doubtnut.com/l/_DeqwsHFjGbO9
https://dl.doubtnut.com/l/_8tE1HPItWGie


139. Find the equations of the plane parallel to the plane

 


which are at a distance of 2 units from the point (1, 1, 2).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2y + 2z + 8 = 0

x + 2y + 2z − 1 = 0, x + 2y + 2z + 13 = 0

x + 2y + 2z + 1 = 0, x + 2y + 2z − 13 = 0

x + 2y + 2z − 1 = 0, x + 2y + 2z − 13 = 0

x + 2y + 2z + 1 = 0, x + 2y + 2z + 13 = 0

140. If the distance of the point (1,1,1) from the origin is half its distance

from the plane , then k is equal to

A. 

x + y + z + k = 0

±3

https://dl.doubtnut.com/l/_8tE1HPItWGie
https://dl.doubtnut.com/l/_sjHYRgIccwlo
https://dl.doubtnut.com/l/_pjPmkfb0f9G4


B. 

C. 

D. 

Answer: D

Watch Video Solution

±6

−3, 9

3, − 9

141. If the perpendicular distance of point A other than origin from the

plane  is equal to the distance of the plane from the origin

,then A

A. 

B. 

C. 

D. 

Answer: A

x + y + z = k

≡

(2k, k, − k)

(2k, − k, k)

(2k, − k, 2k)

(2k, k, k)

https://dl.doubtnut.com/l/_pjPmkfb0f9G4
https://dl.doubtnut.com/l/_ZfaurnGUzoNO


Watch Video Solution

142. The plane  contain the lines

 . If point (2 ,1, -1) is at a distance of

 from the plane , then 

A. 0

B. 110

C. 

D. 

Answer: B

Watch Video Solution

ax + by + cz = 105

2x − y + z = 3 and 3x + y + z = 5

1

√6
a + b + c =

−70

−105

143. Which of the following is correct?

https://dl.doubtnut.com/l/_ZfaurnGUzoNO
https://dl.doubtnut.com/l/_lJaziugUHm1N
https://dl.doubtnut.com/l/_jzGNwbLBiaJi


A. If a variable plane moves in such a way that the sum of the

reciprocals of its intercepts on the co-ordinate axes is constant ,

then the plane passes through the fixed point .

B. If a varible plane moves in such a way that the sum of the

reciprocals of its intercepts on the co-ordinate axes is constant

,then the plane passes through the origin.

C. If a varible plane moves in such a way that the difference of the

reciprocals of its intercepts on the co-ordinate axes is constant

then the plane passes through the fixed point.

D. If a varible plane moves in such a way that the differnce of the

reciprocals of its intercepts on the co-ordinate axes is constant ,

then the plane passes through the origin.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jzGNwbLBiaJi
https://dl.doubtnut.com/l/_WzCbAsElXnm9


144. The equation of a plane which cuts equal intercepts of unit length on

the axes is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y + z = 0

x + y + z = 1

x + y − z = 1

x + y + z = a

145. If the plane  passes through the point 

then the intercepts cut by it on the axes of  are respectively-

A. 

B. 

C. 

x − 3y + 5z = d (1, 2, 4),

x, y, z

15, − 5, 3

1, − 5, 3

−10, 5, − 3

https://dl.doubtnut.com/l/_WzCbAsElXnm9
https://dl.doubtnut.com/l/_yNJWo62LsDUx


D. 

Answer: A

Watch Video Solution

1, − 6, 20

146. If a plane meets the co-ordinate axes in A ,B , C such that the centroid

of triangle ABC is (p ,q , r) then the equation of plane is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + = 3
x

p

y

q

z

r

+ + = 1
x

p

y

q

z

r

+ + = 0
x

p

y

q

z

r

+ + = 2
x

p

y

q

z

r

https://dl.doubtnut.com/l/_yNJWo62LsDUx
https://dl.doubtnut.com/l/_unTMkrWpH1sU


147. If a variable plane which is at a constant distance 3p from the origin

cut the co-ordinate axes at points A ,B , C , then locus of the centroid of

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC

+ + =
1

x2

1

y2

1

z2

1

9p2

+ + =
1

x2

1

y2

1

z2

1

3p2

+ + =
1

x2

1

y2

1

z2

1

p2

+ + =
1

x2

1

y2

1

z2

3

p2

148. If plane meets co-ordinates axes at A , B ,C such that centroid of

triangle ABC is  ,then the equation of plane is

A. 

B. 

( , , )
1

3

2

3
4
3

x + 2y + 4z = 4

4x + 2y + z = 4

https://dl.doubtnut.com/l/_9NuGwIiAppOT
https://dl.doubtnut.com/l/_N2zEaCUOggCM


C. 

D. 

Answer: B

Watch Video Solution

x + y + z = 4

x + 2y + 3z = 8

149. IF for a plane the intercepts on the coordinate axes are 8,4,4 then the

length of the perpendicular from the origin on to the plane is (A)  (B) 

 (C)  (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8

3
3

8
3

4
3

8

3

3

8

4
3

3

4

https://dl.doubtnut.com/l/_N2zEaCUOggCM
https://dl.doubtnut.com/l/_UFvphquMHyHA


150. The plane  cuts the co-ordinate axes in :

then the area of the  is

A.  sq. units

B.  sq.units

C. sq.units

D.  sq . Units

Answer: D

Watch Video Solution

+ + = 1
x

2

y

3
z

4
A, B, C

ΔABC

√29

√41

√51

√61

151. The equation of the plane through (-1,1,2), whose normal makes equal

acute angles with coordinate axes is

A. 

B. 

r̄. ( î + ĵ + k̂) = 2

r̄. ( î + ĵ + k̂) = 6

https://dl.doubtnut.com/l/_UFvphquMHyHA
https://dl.doubtnut.com/l/_GQEVszGhuwl5
https://dl.doubtnut.com/l/_fGDzfKTDPCqL


C. 

D. 

Answer: A

Watch Video Solution

r̄. (3 î − 3ĵ + 3k̂) = 2

r̄. ( î − ĵ + k̂) = 3

152. If the distance of points  from the plane 

 is 5 units, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 î + 3t̂ j + λk̂

r ⋅ (3 î + 2ĵ + 6k̂) = 13 λ =

6,
−17

3

6,
17
3

−6,
−17

3

−6,
17
3

https://dl.doubtnut.com/l/_fGDzfKTDPCqL
https://dl.doubtnut.com/l/_E7AVggQJHxci
https://dl.doubtnut.com/l/_ZpEkZ4FSZPT2


153. The distance of the point 
from the plane passing through

the point 
having normal perpendicular to both the lines



 
 (2) 


(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 3, − 7)

(1, − 1, − 1),

= = and = = is :
x − 1

1

y + 2

−2
z − 4

3

x − 2

2

y + 1

−1
z + 7
−1

5

√83
10

√74

20

√74

10

√83

10

√74
20

√74
10

√83

5

√83

154. If the image of the point 
 in the plane, 


measured parallel to the line, 
is 
 ,

then 
is equal to :
 
(2) 
(3) 
(4) 

A. 

P (1, − 2, 3)

2x + 3y − 4z + 22 = 0 − −
x

1

y

4
z

5
Q

PQ √42 6√5 3√5 3√42

6√5

https://dl.doubtnut.com/l/_ZpEkZ4FSZPT2
https://dl.doubtnut.com/l/_7l9B6VBsIQZi


B. 

C. 

D. 

Answer: C

Watch Video Solution

3√5

2√42

√5

https://dl.doubtnut.com/l/_7l9B6VBsIQZi

